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Zol T e . .................................................................
= § H—+—a0 ta —E0 deg
b FaR hS % —B0 to —B5 dag
&8s Y Sy —65 ta —20 deg
= ! [F-E1-20 ta 20 deg
2 20 to 35 deq
= 6.0 —— 65 to 0 deg
= &0 to 90 deq
&

5.5

2.0

4.3 : : : ; : :

Oz G0LCD Qi 00,00 AN Q00050 Q400,00 Q00000 0 00,00
05/ 10/ 2006 20710 /2008 o411 2008 18,11 /2008 04,412 /2008 18712 /2008 03701 /2008

Timz [atart of day]




Caily averaqa [eee title]

12

O3 winr [ppmy] for pressure 10.0 hPd

+—+—00 to —B0 deg
=+ —B0 to —65 deg
—G3 to —20 deg
[E1—Z0 to 20 deg
20 to 35 deq
—ES to 30 deq
B0 to 90 deg

001,090 (000,40 00,00 (000,00 (00, 00 00,15 O 00,0
05 /10 00 2010, 2008 o4 11 /2008 19,/11 /2006 0412 2008 18712 /5008 03 Ao /20

Timz [atart of day]



Caily overage [see title]

D008 |

O.005

'E'.ljl:l:."ri ........................... R | m

'E'.DDE ............................................. i .§. ................................

0,001

HMO3 wmr [pprry] for pressure 1000 KPa

O, QI [ s e, ; .................................................. ;, ...................................................... : ......................................................... IV AR, WO W ; .........

.......... -'-""—‘-il-q.?‘-ifl"h"-k'- L =yl sty é::=:====.-===========
e T T M S "if = b :
P % ; b - i i
L :

+—+—8C to —80 deg
=3 —B0 to —B5 deg

—G3 to —20 deg

[E1—-2C to 20 deg

20 to 35 deq

—ES to 30 deq

B0 to 90 deg

D500
05 /10 00

(000,40
2010, 2008

00,00 (000,00
o4 11 /2008 19,/11 /2006

Timz [atart of day]

(00, 00
0412 2008

00,15
18712 /5008

O 00,0
03 Ao /20




CH4 wnr [ppmy] for pressure 10.0 hPa

2.0
1‘E .............. B.E. .......... i ..... E,E ............... EEE.E ............................ .i .............. E .......... EEE .................... E.
s i ot i 5 =8
+—+—8C to —80 deg
i3 4+ —B0 ta -6 deg

—G3 to —20 deg
[E1—-2C to 20 deg

Daily averaga [=as title]

20 to 35 deq
.8 —ES to 30 deq
: &0 to 90 deq
0.4
.o : ; : ; : :
D0z 00L00 00 00,00 00000 00 00,00 Q000,00 Q000,00 000,00
0510,/ 2006 20,10/ 2008 a4/11,/2008 19,/11 /2008 0412 /2008 18,12 /2008 03,01 /2009

Timz [atart of day]



MNZ2 wrnr [pprev] for pressure 190.0 hPa

0.25

028
2 (90 to —50 deg
015 B0 ta —65 deg
k] —B5 to —20 deg
a [F-£1—20 ta 20 deg
e 20 to 35 deq
= —— 65 to 0 deg
S 010 B0 to 90 deg
& 5

[.05 !

0,00 bt . i .

D0z 00L00 00 00,00 00000 00 00,00 Q000,00 Q000,00 000,00

05 /15 2008 201 0 /3008 o4 /11 /2008 189 ,/11 /2008 04712 /2008 16 /12 730086 03,701 /3000

Timz [atart of day]




Caily overage [see title]

MNOZ wrr, sun eleve==0 [ppmy] far pressure 10.0 hPa

0,008

(EANE

0.008
H——20 to —E0 deg
0.00% % —B0 to —65 deg
—G3 to —20 deg
P SO £ 7 2 2 = TS . iiition = (F-E1—20 ta 20 deg
] ! 20 to 85 dag
—ES to 30 deq
0,003 [ 50 to 90 deg
o002
0.001
0,005 - . . , . ,
D080, 00 09: 00,00 D000 Q000,00 Q00,00 O0z00.00 000,00
0510,/ 2006 20,10/ 2008 a4/11,/2008 19,/11 /2008 0412 /2008 18,12 /2008 03,01 /2009

Timz [atart of day]




Caily overage [see title]

MOZ wrr, sun elev<0 [ppmy] for pressure 10.0 hPd

0,016

o014

0.012
a0 ta —E0 deg
0.010 % —B0 to —65 deg
—G3 to —20 deg
0.008 [3-E1-20 ta 20 deg
20 to 35 deq
—ES to 30 deq
.00 80 to 80 deg
o004
£.002
0,005 ; : . : , :
D0z 00L00 00 00,00 00000 00 00,00 Q000,00 Q000,00 000,00
08/ 10, 5006 20,710,/ 2008 o4 /11 /3008 19,/11,/ 2008 04,712 /2008 187122008 03701 /2008

Timz [atart of day]




Caily everage [see title]

F11 winr [ppmy] far pressure 10.0 hPa

35x1070
20x107"
2 Ex107F H—+—00 to —E0 deg
= —B0 tn —B5 deg
—G3 to —20 deg
2 003 [5-E1—20 to 20 deg
i 70 to 85 daeg
——FBES to 80 deg
. ; : 80 to 90 deg
IR G [ Sl EETEET TPl g : R PR Wi sz NPT A e cpons ..'....E.... P PP G U
1.0x 107
501078 - . . , .
Dz 0L Q2 00,00 D=0, O Q0080 Q00,00 Q08000 Q2 00,00
{5 /10, 200 21 0,/ 2008 a4 /11 /2008 19,711 /2006 0412 2008 18,4 272008 03 /1 /200

Timz [atart of day]



CLMO wmr [ppmy] for pressure 10.0 hPa

00014

0.0012
B 0.0010 [—+—00 ta —B0 deg
- - —B0 to —65 deg
o —B5 to —20 deg
® 0 ao0s [3-E1—20 ta 20 deg
2 20 to 35 deq
= —— 65 to 0 deg
= ! &0 to 90 deq
& 0.0006

0.0004

08002 : : . : , .

D080, 00 09: 00,00 D000 Q000,00 Q00,00 O0z00.00 000,00
05 /10, 5006 2010,/ 2008 o4 /11 /008 19,/11 /2008 04412 2008 18 /12,2008 03/01 /2008

Timz [atart of day]




MNZCE vimr [pprmy] far pressure 19.0 hPa

00,0035

0.0025
B 0.0020 (90 to —50 deg
- - —B0 to —65 deg
o —B5 to —20 deg
® o o015 [F-£1—20 ta 20 deg
2 20 to 35 deq
= —— 65 to 0 deg
= &0 to 90 deq
& 0.0010

0,0005

0.0000 [ S SRR o %

0000106 0 001,000 Q000,00 000,80 (200, 00 Q000,00 (0 001,001
05 /10, 5006 2010,/ 2008 o4 /11 /008 19,/11 /2008 04412 2008 18 /12,2008 03/01 /2008

Timz [atart of day]



Caily everage [see title]

F12 vinr [ppmyv] faor pressure 10.0 hPa

LN E [P

25x107"
—
2.0%1% H—+—00 to —E0 deg
e —B0 to —BS deg
—G3 to —20 deg
R [F-£1—20 to 20 deg
20 to 35 deq
—ES to 30 deq
0 to 90 deg
1.0x107

B.0x107

o : : : : : :
D500 (000,40 00,00 (000,00 (00, 00 00,15 O 00,0
05 /10 00 2010, 2008 o4 11 /2008 19,/11 /2006 0412 2008 18712 /5008 03 Ao /20

Timz [atart of day]



Caily everage [see title]

COFZ wmr [pprav] for pressure 10.0 kPa

05107
36«10t
NS
H—+—00 ta —E0 deg
e —B0 to —BS deg
—
2.5¥10 —B5 to —20 deg
[F-£1—20 to 20 deg
20 to 35 deq
20x107 ——65 to 80 dag
50 to 90 deg
1.5x1074
102107
Bx107 - . : , . ,
D0-o0.C0 000,00 D00, 00 000,50 Q000,00 Q00000 000,00
0510,/ 2006 20,10/ 2008 a4/11,/2008 19,/11 /2008 0412 /2008 18,12 /2008 03,01 /2009

Timz [atart of day]




Caily averaga [eea titla]

251070

CCL4 wmr [pprov] for pressure 19.0 hPa

2.0x1077

1.5x107"

+—+—8C to —80 deg
=3 —B0 to —B5 deg

1.0x107° —B5 to —20 dsg
[F-E1—20 to 20 deg
20 to 35 deq
5.0x107" ——65 to 80 dag
50 to 90 dag
o
—5,0x1570
u
— 101078 : : : ; : :
D080, 00 09: 00,00 D000 Q000,00 Q00,00 O0z00.00 000,00
0510,/ 2006 20,10/ 2008 a4/11,/2008 19,/11 /2008 0412 /2008 18,12 /2008 03,01 /2009

Timz [atart of day]




HCMH wrr [pprov] for pressure 100 hPa

1.0

LB b ............................. ............................ e ............................
= (90 to —50 deg
B O S S S .| Pex—B0 ta —BS deg
K3 —B5 to —20 deg
@ [F-E-20 ta 20 deg
2 20 to 35 deq
E ............................ Lot i it et e s m s m s m s rm e am s m s Ea s s s a o EEarma e L T T T T T T T T T T T T _Eﬁ tD EI:' dEH
5 4 : ' ' B0 to 90 deg
a

7Y — S S A— S S

0.0 : i : : : :

O G20 Qs 00,00 AN Q00000 Q005,00 0000 ;00,00
05 /10, 5006 2010,/ 2008 o4 /11 /008 19,/11 /2008 04412 2008 18 /12,2008 03/01 /2008

Timz [atart of day]



F14 vinr [ppmy] for pressure 10.0 hPa

1.0

LB b ............................. ............................ e ............................
= (90 to —50 deg
B O S S S .| Pex—B0 ta —BS deg
K3 —B5 to —20 deg
@ [F-E-20 ta 20 deg
2 20 to 35 deq
E ............................ Lot i it et e s m s m s m s rm e am s m s Ea s s s a o EEarma e L T T T T T T T T T T T T _Eﬁ tD EI:' dEH
5 4 : ' ' B0 to 90 deg
a

7Y — S S A— S S

0.0 : i : : : :

O G20 Qs 00,00 AN Q00000 Q005,00 0000 ;00,00
05 /10, 5006 2010,/ 2008 o4 /11 /008 19,/11 /2008 04412 2008 18 /12,2008 03/01 /2008

Timz [atart of day]



Caily averaga [eea titla]

25107

2ox1074

F22 vinr [ppmyv] faor pressure 10.0 hPa

n
1.5=10 H—+—00 to —E0 deg
e B0 tn —B5 deg
—G3 to —20 deg
1.0x107 [F-E1—20 to 20 deg
20 to 35 deq
—ES to 30 deq
50 to 90 dag
5.0x107"
0
—E.0x1078 : : : ; : :
D10, 00 O 00,010 D000, 00 0000, 00 (000, 00 000,00 00 (0,000
08 /10 F006 20,/10 /2008 a4/11 /2008 19,711 /2006 04712 F2008 16 /1 2 /3008 03,01 /2008

Timz [atart of day]




Temperdature [K] for pressure 1.0 hPa

290

ZHD
= 270 (90 to —50 deg
- - —B0 to —65 deg
o —B5 to —20 deg
® oo [F-£1—20 ta 20 deg
Fa 20 to 35 deq
z —— 65 to 0 deg
= &0 to 90 deq
& 250

240

230 : : . : , .

D0z 00L00 00 00,00 00000 00 00,00 Q000,00 Q000,00 000,00
05 /15 2008 201 0 /3008 o4 /11 /2008 189 ,/11 /2008 04712 /2008 16 /12 730086 03,701 /3000

Timz [atart of day]




Tangent altitude [km] for pressure 1.0 hPa

a2

ah

0 (90 to —50 deg
T B0 ta —65 deg
o —B5 to —20 deg
. [F-E1-20 tn 20 deg
= 20 to 85 deg
z ” —— 65 to 0 deg
= i &0 to 90 deq
I':ID -

42 - - - - - -

D0z 00L00 00 00,00 00000 00 00,00 Q000,00 Q000,00 000,00
05/ 10/ 2006 20710 /2008 o411 2008 18,11 /2008 04,412 /2008 18712 /2008 03701 /2008

Timz [atart of day]




HZC winr [pprmv] for pressure 1.0 hP4d

H.=2

B.0
¥ H—+—90 to —E0 deg
Y- B0 ta —65 deg
K3 —B5 to —20 deg
m [F-E1-20 ta 20 deg
2 20 to 35 deq
= —— 65 to 0 deg
= 7.0 B0 to 90 deg
8

G.2

.0 : . : ; : :

O 50,00 ;00,00 AL EAN Qo0 G0 Q000,00 000,00 Qcy 00,00
05 /15 2008 201 0 /3008 o4 /11 /2008 189 ,/11 /2008 04712 /2008 16 /12 730086 03,701 /3000

Timz [atart of day]




4.3

4.0

™
tn

™
[

Daily averaga [=as title]

2.5

2.0

Q3 wmr [ppmy] for pressure 1.0 hPd

+—+—00 to —B0 deg
=+ —B0 to —65 deg
—G3 to —20 deg
[E1—Z0 to 20 deg
20 to 35 deq
—ES to 30 deq
B0 to 90 deg

D500
05 /10 00

(000,40
2010, 2008

00,00
o4 11 /2008

(000,00
19,/11 /2006

Timz [atart of day]

(00, 00
0412 2008

00,15
18712 /5008

O 00,0
03 Ao /20



Daily averaga [=se titls]

HNOZ wrr [pprov] for pressure 1.0 hPa
0.0010 : 5 :

BLOTIE b ............................. ............................ e ............................

+—+—8C to —80 deg

00006 4= —BC to —BS deg
—G3 to —20 deg
[E1—Z0 to 20 deg
20 to 35 deq
—ES to 30 deq
0.0004 B0 to 90 deg
0,0002
00000 : : : ' : :
D0z 0000 O 00,00 D000 000000 Q000,00 D0 o0.00 0OC; 00,00
'EIEI.-""I'DJ.-"ECI'DB EGf1Df2‘DDE ﬂ#ﬂ“l,-‘rilfllflﬂ 19,-’1‘1;’20'3-8 D#-f‘l?fﬂﬂlflﬂ 15',-"'12;’20@5 CIEJ.-"DL-"'E'DDEI

Timz [atart of day]



CH4 winr [ppmy] for pressure 1.0 hPd
045 : : :

04

0D.33

030

=
P
e

+—+—8C to —80 deg
=3 —B0 to —B5 deg

—G3 to —20 deg

[E1—-2C to 20 deg

20 to 35 deq

—ES to 30 deq

B0 to 90 deg

Cally cwverage [see titla]
a
]
n

015

0o

105 - . - . - .
D500 (000,40 00,00 (000,00 (00, 00 00,15 O 00,0
05 /10 00 2010, 2008 o4 11 /2008 19,/11 /2006 0412 2008 18712 /5008 03 Ao /20

Timz [atart of day]




Caily overage [see title]

MNZC winr [pprmv] for pressure 1.0 hPd

0,007
G006
0,005
[——00 to —&0 deg
% —B0 to —B5 deg
©.004 —B65 to -20 deg
[E1—-2C to 20 deg
20 to 35 deq
ALV —FES to 80 deq
&0 to 90 deg
a0z
2,00
0,000 i : : : : .
D000 00 000,00 Q000,00 0000, 0 Q000,00 000,00 A 00,00
05/ 10,/ 2008 20/10,/2008 o4 /11 /2008 19,511 /2006 o412 f2008 18/1 2,/ 2008 03 /01 /2008

Timz [atart of day]




MNOZ wrar, sun elevs==0 [ppmy] for pressure 1.0 hPa

Q.0006

0.0003
‘®’ 0.0004 (90 to —50 deg
. % —B0 ta —B5 deg
o —B5 to —20 deg
© 0.0003 [F-E1—20 to 20 deg
2 20 to 35 deq
= —— 65 to 0 deg
= &0 to 90 deq
& 0.0002

0..001

00,0008 . - . - .
D500 (000,40 00,00 (000,00 (00, 00 00,15 O 00,0
05 /10 00 2010, 2008 o4 11 /2008 19,/11 /2006 0412 2008 18712 /5008 03 Ao /20

Timz [atart of day]



Caily overage [see title]

MOZ winr, sun elev<0 [ppmy] for pressure 1.0 hPd

0,012

.o

£.008 H—+—a0 to —E0 deg
4= —BC to —BS deg
—G3 to —20 deg
o 00R [E1—-2C to 20 deg
20 to 35 deq
—ES to 30 deq
50 to 90 deg
O, Q04 :
0,002
i e, 3
O, (0 + : : : i : ,
Oz G 2 (g 00,010 TR AN Q0G0 A0, AT O (0,0
05/ 10/ 2008 20,10,/ 2008 &4 /11 /2008 19,/11 /2006 o4 712 S2008 18712 /2008 0301 /2009

Timz [atart of day]




Caily everage [see title]

F11 wmr [pprmyv] for pressure 1.0 hPg

16107
1 4x10 T
12107
H—+—00 ta —E0 deg
e —B0 to —BS deg
—
1.0:10 —B5 to —20 deg
[F-£1—20 to 20 deg
20 to 35 deq
VRS [ ——65 to 80 dag
50 to 90 deg
B.0x1070
4,0xq0
R : : : : : :
Dz 0L Q2 00,00 D=0, O Q0080 Q00,00 Q08000 Q2 00,00
0510,/ 2006 20,10/ 2008 a4/11,/2008 19,/11 /2008 0412 /2008 18,12 /2008 03,01 /2009

Timz [atart of day]




CLNO vmr [pprmy] for pressure 1.0 hPa

0,005

PN o 1 R T T TN R ............................ ............................ ............................ ............................

+—+—8C to —80 deg
=3 —B0 to —B5 deg

=
W 0.003

® —B5 to —20 deg
o [F-51—20 ta 20 deg
= 20 to 35 deq

= 0002 —— 65 to 0 deg
= B0 to 90 deg

&

.00

.00 . - : : , :
D500 (000,40 00,00 (000,00 (00, 00 00,15 O 00,0
05 /10 00 2010, 2008 o4 11 /2008 19,/11 /2006 0412 2008 18712 /5008 03 Ao /20

Timz [atart of day]



NZOE vimr [pprmw] far pressure 1.0 hPa

08012

00018
= 0.0008 (90 to —50 deg
- - —B0 to —65 deg
o —B5 to —20 deg
® o ooos [F-£1—20 ta 20 deg
2 20 to 35 deq
= —— 65 to 0 deg
= &0 to 90 deq
& 0.0004

n.oooz b

0,00 s ; : . : , .

D0z 00L00 00 00,00 00000 00 00,00 Q000,00 Q000,00 000,00
05 /15 2008 201 0 /3008 o4 /11 /2008 189 ,/11 /2008 04712 /2008 16 /12 730086 03,701 /3000

Timz [atart of day]



Caily everage [see title]

25107 ] :

T 5 5
EJ:I-‘-‘H'E'H‘ ............................ i ............................ E ........................................................ .E ......................................................... .
-15;,,\-1.:,4 ........................................ .:. .................................................................................................................. ISR | TP ST

F12 wmr [pprmyv] for pressure 1.0 hPa

+—+—8C to —80 deg
=3 —B0 to —B5 deg

—G3 to —20 deg

[E1—-2C to 20 deg

B 20 to 35 deq
E ——FS to 30 da
e T - T S | I SO E‘L .......... A e R U | B g
1010 J\ " s E0 to 90 deg
-5..':' w .1 ID—\-E ....................................................... é.;;. ........................................................ i ......................................................... E ........................................................ .§. ........................................................ E
] . ! : ! : M
O DL Qe 00,00 D0, O Q000,00 QS0 00 Q00000 O 00, D
05 /10 006 2010,/ 2008 a4 A1 2008 19,/11 /2008 04 /12 F2008 18 /12 /3008 03 /01 /2008

Timz [atart of day]




Caily averaga [=== title]

COFZ wrr [ppriv] for pressure 1.0 hPa

Q0004

02003

I
0.2002 H——20 to —E0 deg

=+ —B0 to —65 deg
—G3 to —20 deg
[E1—Z0 to 20 deg
20 to 35 deq
—ES to 30 deq

B0 to 90 deg

02007

0,000

—0.0001

—0.8002 - . . , : :
D500 (000,40 00,00 (000,00 (00, 00 00,15 O 00,0
05 /10 00 2010, 2008 o4 11 /2008 19,/11 /2006 0412 2008 18712 /5008 03 Ao /20

Timz [atart of day]



CCL4 wmr [pprov] for pressure 1.0 hPa

Timz [atart of day]

.0 ; . ,
D‘EI ............................ D et i s m e ms s m s m s m s E ............................ §. ............................ ;, ..........................................................
= : : (90 to —50 deg
f Y P N SO O S U B0 ta —65 deg
K3 : —B5 to —20 deg
o 5 5 [F-E1-20 ta 20 deg
c : 5 20 to 85 deg
N DO S S S OO SO | | 66 ta B0 deg
=0 : : ' E : 80 to 90 deg
; s
LRI [ rsmsmmemnennenes s snens s e s .;. .................................................................................................................. ettt e £ AR SRS E£E e e e et et et et et et L
0.0 : . : :
OG0, 100,01 001:00,20 (500, 010 (3 001,10
05 /15 2008 201 0 /3008 o4 /11 /2008 189 ,/11 /2008 04712 /2008 16 /12 730086 03,701 /3000




HCM wrar [pprmv] for pressure 1.0 hPa

Timz [atart of day]

.0 , . ,
D‘EI ............................ D et i s m e ms s m s m s m s E ............................ §. ............................ ;, ..........................................................
= : : (90 to —50 deg
f Y P N SO O S U B0 ta —65 deg
K3 : —B5 to —20 deg
o 5 5 [F-E1-20 ta 20 deg
c : 5 20 to 85 deg
N DO S S S OO SO | | 66 ta B0 deg
=0 : : ' E : 80 to 90 deg
; s
LRI [ rsmsmmemnennenes s snens s e s .;. .................................................................................................................. ettt e £ AR SRS E£E e e e et et et et et et L
0.0 : . : :
OG0, 100,01 001:00,20 (500, 010 (3 001,10
05 /15 2008 201 0 /3008 o4 /11 /2008 189 ,/11 /2008 04712 /2008 16 /12 730086 03,701 /3000




F14 wmr [pprmyv] for pressure 1.0 hPa

Timz [atart of day]

.0 , . ,
D‘EI ............................ D et i s m e ms s m s m s m s E ............................ §. ............................ ;, ..........................................................
= : : (90 to —50 deg
f Y P N SO O S U B0 ta —65 deg
K3 : —B5 to —20 deg
o 5 5 [F-E1-20 ta 20 deg
c : 5 20 to 85 deg
N DO S S S OO SO | | 66 ta B0 deg
=0 : : ' E : 80 to 90 deg
; s
LRI [ rsmsmmemnennenes s snens s e s .;. .................................................................................................................. ettt e £ AR SRS E£E e e e et et et et et et L
0.0 : . : :
OG0, 100,01 001:00,20 (500, 010 (3 001,10
05 /15 2008 201 0 /3008 o4 /11 /2008 189 ,/11 /2008 04712 /2008 16 /12 730086 03,701 /3000




F22 vmr [pprmyv] for pressure 1.0 hPd

Timz [atart of day]

.0 , . ,
D‘EI ............................ D et i s m e ms s m s m s m s E ............................ §. ............................ ;, ..........................................................
= : : (90 to —50 deg
f Y P N SO O S U B0 ta —65 deg
K3 : —B5 to —20 deg
o 5 5 [F-E1-20 ta 20 deg
c : 5 20 to 85 deg
N DO S S S OO SO | | 66 ta B0 deg
=0 : : ' E : 80 to 90 deg
; s
LRI [ rsmsmmemnennenes s snens s e s .;. .................................................................................................................. ettt e £ AR SRS E£E e e e et et et et et et L
0.0 : . : :
OG0, 100,01 001:00,20 (500, 010 (3 001,10
05 /15 2008 201 0 /3008 o4 /11 /2008 189 ,/11 /2008 04712 /2008 16 /12 730086 03,701 /3000




Temperdature [K] for pressure ©.1 hPa

70
260
£} (90 to —50 deg
= osn B0 ta —65 deg
o —B5 to —20 deg
. [F-£1—20 ta 20 deg
Fa 20 to 35 deq
z —— 65 to 0 deg
= 240 &0 to 90 deq
A
230
S S T i e - = = o >~ el = o = 2
I s = == L W RN - N S = o = 1o
220 : : . : , .
D0z 00L00 00 00,00 00000 00 00,00 Q000,00 Q000,00 000,00
05 /15 2008 201 0 /3008 o4 /11 /2008 189 ,/11 /2008 04712 /2008 16 /12 730086 03,701 /3000

Timz [atart of day]



i

L)

Caily averaqa [eee title]
= =
+ &

[} ]
Fa

g0

Tangent altitude [km] for pressure 0.1 hPa

+—+—00 to —B0 deg
=+ —B0 to —65 deg
—G3 to —20 deg
[E1—Z0 to 20 deg
20 to 35 deq
—ES to 30 deq
B0 to 90 deg

5 . - : : , :
D500 (000,40 00,00 (000,00 (00, 00 00,15 O 00,0
05 /10 00 2010, 2008 o4 11 /2008 19,/11 /2006 0412 2008 18712 /5008 03 Ao /20

Timz [atart of day]
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